
 

 

LAMPIRAN 1 4
Soal Pilihan Ganda

No. B JS P
Keteran

gan 

1 21 32 0.656 Sedang

2 20 32 0.625 Sedang

3 17 32 0.531 Sedang

4 14 32 0.438 Sedang

5 17 32 0.531 Sedang

6 17 32 0.531 Sedang

7 20 32 0.625 Sedang

8 15 32 0.469 Sedang

9 18 32 0.563 Sedang

10 19 32 0.594 Sedang

11 20 32 0.625 Sedang

12 23 32 0.719 Mudah

13 22 32 0.688 Sedang

14 22 32 0.688 Sedang

15 22 32 0.688 Sedang

16 26 32 0.813 Mudah

17 26 32 0.813 Mudah

18 27 32 0.844 Mudah

19 21 32 0.656 Sedang

20 27 32 0.844 Mudah

21 27 32 0.844 Mudah

22 26 32 0.813 Mudah

23 22 32 0.688 Sedang

24 24 32 0.750 Mudah

25 30 32 0.938 Mudah

26 25 32 0.781 Mudah

27 24 32 0.750 Mudah

28 26 32 0.813 Mudah

29 28 32 0.875 Mudah

30 27 32 0.844 Mudah

31 25 32 0.781 Mudah

32 25 32 0.781 Mudah

33 25 32 0.781 Mudah

34 28 32 0.875 Mudah

35 27 32 0.844 Mudah

36 26 32 0.813 Mudah

37 24 32 0.750 Mudah

38 26 32 0.813 Mudah

39 26 32 0.813 Mudah

40 24 32 0.750 Mudah

Soal dengan P 0,00 - 0,30 = Sukar
Soal dengan P 0,30 – 0,70 = Sedang
Soal dengan P 0,70 – 1 ,00 = mudah

Suharsimi Arikunto, (2007: 21 0)



 

 

 

 

 

No. B JS P Keterangan 

1 16 32 0.500 Sedang

2 15 32 0.469 Mudah

3 20 32 0.625 Sedang

4 19 32 0.594 Sedang

5 21 32 0.656 Sedang

6 18 32 0.563 Sedang

7 19 32 0.594 Sedang

8 26 32 0.813 Mudah

9 25 32 0.781 Mudah

10 25 32 0.781 Mudah

11 29 32 0.906 Mudah

12 26 32 0.813 Mudah

13 25 32 0.781 Mudah

14 27 32 0.844 Mudah

15 23 32 0.719 Mudah

16 26 32 0.813 Mudah

17 10 32 0.313 Sedang

18 26 32 0.813 Mudah

19 21 32 0.656 Sedang

20 24 32 0.750 Mudah

21 25 32 0.781 Mudah

22 24 32 0.750 Mudah

23 23 32 0.719 Mudah

24 22 32 0.688 Sedang

25 29 32 0.906 Mudah

26 26 32 0.813 Mudah

27 26 32 0.813 Mudah

28 27 32 0.844 Mudah

29 28 32 0.875 Mudah

30 26 32 0.813 Mudah

31 24 32 0.750 Mudah

32 26 32 0.813 Mudah

33 27 32 0.844 Mudah

34 26 32 0.813 Mudah

35 28 32 0.875 Mudah

36 29 32 0.906 Mudah

37 26 32 0.813 Mudah

38 26 32 0.813 Mudah

39 25 32 0.781 Mudah

40 21 32 0.656 Sedang

Soal dengan P 0,00 - 0,30 = Sukar
Soal dengan P 0,30 – 0,70 = Sedang
Soal dengan P 0,70 – 1 ,00 = mudah

Suharsimi Arikunto, (2007: 21 0)



 


